Presence of systematic differences between laboratories

N No difference

C Constanat difference

P Proportional difference

CP Both constant and proportional difference
NA Calculation failed

B C D E F G H | J K L M N
A CP CP N N CP N NA CP N N N N N
B 5 P N N N N NA N N N N N N
C : s N N CP N NA N N N N N N
D 5 5 5 C N N NA N P N N N N
E - - - - N N NA N P N C N N
F 5 5 5 5 5 CP NA N N CP CP CP CP
G : : s s s s NA N N N P C CP
H 5 5 5 5 5 5 5 NA NA NA NA NA NA
| - - - - - - - - N N N N N
J 5 5 5 5 5 5 5 5 5 N P N N
K - - - - - - - - - - N N N
L 5 5 5 5 5 5 5 5 5 5 5 N C
M - - - - - - - - - - - - P
N = -




